RANIGANJ LIONS JDM CHANANI DAV PUBLIC SCHOOL

HOLIDAY HOMEWORK
CLASS: X

SESSION: 2025-26
———— e

SUBJECT QUESTIONS

NOTE: All the answers to Q. No. 1 - Q. No 4 shall be written in your English Class work Notebook. Answer to Q. No. 5 has
to be written as per instruction given below.

Q.1. How does the story “Two Gentlemen of Verona” reflect the theme of quiet heroism and dignity in adversity? Discuss how the
brothers’ behaviour and choices convey this theme. Support your answer with examples from the text.

Q.2. Both Mrs. Packletide in ‘Mrs. Packletide’s Tiger’ and the frog in ‘The Frog and The Nightingale’ manipulate others to feed
their egos. Discuss how vanity and exploitation are portrayed in both texts. In your opinion, which text delivers the satire more
ENGLISH sharply? Justify your view with reference to characters and outcomes
COMMUNICATIVE ' '

Q.3. Fill in the blanks with the correct verb forms.

By the time she (i) (reached/had reached/ will reach) the airport, the flight (ii) (was taking off/took off/had
taken off). She (iii) (waits/had been waiting/has waited) for over an hour when she (iv) (heard/was
hearing/has heard) the announcement that it was delayed.

Q.4. Re-arrange the following jumbled words/phrases in the given dialogue to create a meaningful sentence.

Person A: Can you explain how technology influences human behaviour?

Person B: (i)

PEOPLE / IDEAS / SHARE / HAS / ONLINE / TECHNOLOGY / TALK AND/ CHANGED / TODAY / THE WAY




Q.5. Project Work — Mock Social Media Profile

Create a mock social media profile (Instagram/Facebook) for any one character from any one of the texts- ‘Two Gentlemen of
Verona’/ ‘Mrs. Packletide’s Tiger’ / “The Frog and The Nightingale’

Your profile must include:
- A short bio (2-3 lines)
- At least 2 fictional posts (with captions)
- At least 2 comments or interactions with other characters
Example: Instagram profile of Mrs. Packletide flaunting a tiger skin photo with hashtags like
#ShotTheTiger #HighSocietyHunter.
Comment by Miss Mebbin: “You owe that goat a medal!”
Instructions for Preparation:

- Use A4 size page (1/2 plain or ruled)
- Materials needed: pen, pencil, colour pencils or sketch pens
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To be done in Bengali Classwork notebook.
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MATHEMATICS

Do the following sums:

1.

Find the smallest number which when increased by 17 is exactly divisible
by both 520 and 468.

On a morning walk 3 persons step off together and their steps measure
30cm,36¢cm and 40 cm respectively. What is the minimum distance each
should walk so that each can cover the same distance in complete steps?

Two tankers contain 850 | and 680l of petrol, respectively. Find the
maximum capacity of a container which can measure the petrol of either
tanker in exact number of times

If are zeros of the polynomial If a andf are zeros of the polynomial
2y*+7y+5 ,write the value of a>+f32.

Write the family of quadratic polynomials having (— 7)/4 and 1 as its
zeros.




Activity work:
(To be done in half chart paper with proper cover page.)

(i) To draw graph of a quadratic polynomial x? - 4x -5 on the graph paper
and find the zeros. (Take at least 10 points to draw the graph)

(i) To verify the conditions of consistency / inconsistency for a pair of
linear equation in two variables by graphical method.

(Take three pairs of equations to verify.)

SCIENCE

PHYSICS

1. In the given figure angle of refraction for the three different blocks are all same. Compare the speed of light in the three blocks.

i,>1,>1

Q2.Smriti is looking at herself in a convex mirror in a science museum, standing 2m away from the mirror. Her image appears to
be half of her actual height. Estimate the focal length of the mirror.

Q3.




Manju takes two convex lens P and Q , as shown in the figure. She is looking at printed text of a page with the lens P. She noticed
that when she takes the lens slowly away from the page, the text turn upside down, when the lens crosses 10 cm distance from the

page.
a) Which characteristic of lens P does the distance 10 cm signify ?

b) If she does the same with lens Q , at what distance the text will turn upside down, less, more or equal distance ( 10 cm ) ? Justify.

CHEMISTRY:
Answer the following question:

Gas ‘P’ which is the major cause of global warming combines with hydrogen oxide ‘Q’ in nature in the presence of an
environmental factor ‘R’ and a green material ‘S’ to form a six carbon organic compound ‘T’ and a gas ‘U’. The gas ‘U’ is
necessary for breathing.

Identify P, Q, R, S, T and U.

Name this natural process and write the chemical equation for this reaction.

Is the reaction exothermic? justify.

Activity : Performing & Observing the following reaction

A. Decomposition of Lead nitrate
B. Decomposition of crystal Ferrous sulphate

To write the same use the following format in the practical notebook:
1. Aim




2. Materials Required
3. Procedure

4. Observation

5. Inference

BIOLOGY:Science Activity/Experiment

A. Preparation of stained temporary mounts of onion peels
& to record observations and draw their labelled diagrams.
To write the same use the following format in the practical
notebook:

1. Aim

2. Materials Required

3. Procedure

4. Observation

5. Inference

6.Precautions

B.Experimentally show that carbon dioxide is given out during respiration.

C.Studying (a) binary fission in Amoeba, and (b) budding in yeast and Hydra with the
help of prepared slides

Note - Use DAV CAE Practical copy for completion of the
practicals.

SOCIAL SCIENCE

HISTORY & CIVICS:

Answer the following guestions:

Bring out any two sharp contrasts between Belgian and Sri Lankan democracies

What is Majoritarianism? Is it wrong if a majority community in a country rules? Give reasons to justify your answer.
Differentiate between Horizontal Division and Vertical Division of Power Sharing.

State any three beliefs of conservatism that emerged after 1815.

Explain the contributions of Otto von Bismarck in the unification of Germany.

Describe the three ways in which nationalist feelings were kept alive in Poland in the 18th and 19th centuries.

ok owndE




GEOGRAPHY:
Answer the following gquestions.
1. Explain the interdependent relationship between nature, technology and institutions. Also make a diagram to represent the
same.
2. Describe the importance of judicious use of resources.
3. Write down the aims of Agenda 21 to achieve global sustainable development.
4. Describe the different steps of ‘resource planning.’

ECONOMICS

Prepare a booklet (Made out of Pages or Sheets from Old Notebooks -5 Pages
1st Page (Group Details )

General Introduction (SDG Goals )

Co - relation with Geography

Co - relation with Eco

Conclusion

*Note* -Specific Goals as allotted by the teacher in the Class

A. Solve the following Python programs and write the output also.

1. Write a program to calculate the simple interest.

2. Program to accept marks in four subjects and find the average.

3. Program for area and perimeter of a rectangle.

4. Program to input a number and check whether it is even or odd.

5. A program to display the multiplication table of any number entered by the user.
B. Write the answer of the following questions .

1.Radhika has great rhythm, a knack for creating, singing or playing melodies. At a young age she has created many
compositions and won many awards. She possesses intelligence.

a) Logical b) Musical c) Linguistic d) Bodily- kinesthetic




2.The Meta company’s (formerly Face Book) artificial intelligence team recently trained an image recognition model to
85% accuracy using billions of public Instagram photos tagged with hashtags. The key technology behind this model is
a) Computer Vision b)NLP c)Data d) All of these

3.Assertion: (A): Timeless is a key characteristics of effective feedback in communication.

Reason (R): Timely feedback enables individuals to relate feedback to specific situations, enhancing its usefulness.

(a) Both A and R are true, and R is the correct explanation of A.

(b) Both A and R are true, and R is not the correct explanation of A.

(c) Ais true, but R is false.

(d) Ais false, but R is true.

4.Assertion (A): One can be a good singer while other can be a great athlete.

Reason(R): Humans possess different types of intelligences but at different levels.

(a) Both A and R are correct, and R is the correct explanation of A.

(b) Both A and R are correct, and R is not the correct explanation of A.

(c) Ais correct, but R is not correct.

(d) Ais not correct, but R is correct.

5.Rajat has made a model which predicts the performance of Indian Cricket players in upcoming matches. He collected
the data of players performance with respect to stadium, bowels, opponent team and health. His model works with good
accuracy and precision value. Which of the statement given below is incorrect?

a) Data gathered with respect to stadium, bowlers, opponent team and health is known as Testing Data.
b) Data given to an Al model to check accuracy and precision is Testing Data.

¢) Training data and testing data are acquired in the Data Acquisition stage.




d) Training data is always larger as compared to testing data.

6.Write any four real-life implementations of Al.

7.Why data privacy is important for Al.

8.Can digital footprints predict your personality? If yes, which digital platform can provide this information?
9.Write the difference between Rule based Approach and Learning based approach.

10. Define Al, ML and DL.




